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Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value



v v v v

v v v

f g h Z

x

ITE(left sub-trees)

Z

Left sub-tree of Z =
ITE(left subtree of f,
        tree rooted at g,
        left subtree of h)



a

b

c

0 1
Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value

a

ITE(Dda1->left child, Dd1, Ddc1)

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)

TOP-VAR = a

= ITE(Dd0, Dd1, Ddc1)



a

b

c

0 1
Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value

a
Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)

TOP-VAR = a

ITE(Dd0, Dd1, Ddc1)
Top-var = c

ITE(Dd0, Dd1,
        Ddc1->left child)
= ITE(Dd0, Dd1,       )

ITE(Dd0, Dd1, Ddc1 -> right child)

Key = {        ,         ,        }
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b

c

0 1
Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value

a
Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)

TOP-VAR = a

c

0 1

Ddc1
ITE(Dda1->right child, Dd1, Ddc1)
= ITE(Dd1, Dd1, Ddc1)
Top-var = c



a

b

c

0 1
Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value

a
Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)

TOP-VAR = a

c

0

Ddc1

1

ITE(Dd1, Dd1, Ddc1)
Top-var = cc

ITE(Dd1, Dd1, Ddc1->left child)
=ITE(Dd1, Dd1, Dd0)
=

ITE(Dd1, Dd1, Ddc1->right child)
= ITE(Dd1, Dd1, Dd1)
= 
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b

c

0 1
Dd0 Dd1

Dda1
Ddb1

Ddc1

{NULL, 0, NULL}

{NULL, 1, NULL}
{Dd0. a, Dd1}

{Dd0, b, Dd1}

{Dd0, c, Dd1}

Dd0

Dd1
Dda1
Ddb1

Ddc1

Key Value

a

c

0

Ddc1

1

c

1 1

Z = ITE(a, 1, c) = ITE(Dda1, DD1, Ddc1)
TOP-VAR = a

0 1

Ddc1
c

a

Key:{           ,            ,           }
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b

c

0 1
Dd0 Dd1

Dda1
Ddb1 a

Ddc1

Dda2

b
Ddb2

func = func = 
func = 

func = f = 

func = g = 



a

b

c

0 1

Ddc1

Ddb2

Dda3
f = (a + c) (b + c) <=> g = ab + c

Key(f) = {Ddc1, a, Ddb2}
Key(g) = {Ddc1, a, Ddb2}
Key(f) = Key(g) <=> f = g!
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a

b b

c

a=1

b=1

c=1

f = (u) (v) (w)




